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And the ruling is; silk requires no evaluation

OVERVIEW

The X723 concluded the various discussions and ruled (among others) that
concerning the dispute between 701 271 727 whether an assessment needs to
be made (prior to the w17°P) when a man is w7pn with 103 Mw, the ruling is
that when he is w7pn her with *X7°w an assessment is not necessary (as long
as it turns out to be either a 7v1M® MW or the amount he claimed it to be).
moon will discuss the necessity and the wording of this ruling.

mMooIn asks:
— 991 29 )Y Ma9s 171093 TPH0NIN INAN IR ON)

And if you will say; why is it necessary to rule like ;729 against 19 29?
— 2n8n1) 1939 ATV 93 1195 XNAYN 199P0D (3,3mp 91 NI X222 NNT

For in X9n2 822 noon the X713 decided that the ruling is always according
to 1729 when he disputes 701 17, except for the three disputes of 1w nTw

71X, The question is since it is a universal rule that the 773977 is 7272; why mention it
here again!

Mmoo offers an answer:
— N9NA X227 999192 XPIT1NT DIV UM

And some explain that this ruling of 7272 Xn2%7 is only concerning the
issues mentioned in N9N2 X323 NO0M; however concerning disputes in other areas

there is no universal rule. Therefore it was necessary to mention here that the 72977 is 7272
that X)W PMX X ORPY.

mooIn disagrees with this answer:
— (3,79 97 po>») WANRY 30 P9 NIIMTI D295 XNIYN RXI9) D192 TN HyT XN KD

And this answer is not true for perforce the 772%7 is like 7727 in the entire
X723 as it is evident from *ynNw " P75 -

"In our text the X» states in (2,5mP ,2,7°P) 2"2 that 7% 1w 77w 7O 277 7°nM3 KNP, This indicates,
however that in other cases (where 7121 disputes him) the 7577 is not 701> 275 (but according to 7127).

2 a7w in 1,2° 2"2 discusses the rights of a X7¥» 72 (neighbor) who is an heir; 11¥ on X, 7P discusses that one
may retract from a p if they are 171v IMN2 7PPIOY; and A%MRM on X,aMp is concerning the division of an
inheritance between the wife and the children w"y.

? The xm3 cites there a np12m» between 3"2w1 and the 2*»am. A man said to his wife, here is your v3 with the
stipulation that you return my cloak to me. The cloak was lost (before she could return it to him). 3"2w9
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— 19 RY2Y9 IIPYI RNIN 10T XYY NDID NYDYIND 1D 9INRT NIND 22)
Concerning that person who said to his sharecropper, ‘everyone
irrigates the fields three times a year and receive for their payment (only) a

fourth of the crop, etc. You will irrigate four times and receive a third of the crops’.*
— 71299 ND9YN 19 NP KDY INOYHI 13 PYNRY 1399 D27 XIAOM TN

And the X713 responded; ‘and can you think so; that 7739 is in accordance

with 3"'2w4! But it is established that the ruling is according to 7729 -
— 5N 12 PYNY 1399 NN PN 1Y NP NN

And in this case of the vi it is established that the ruling is not according

to 3''2w9’ but rather like the 1337. Therefore we cannot say that the rulings of 3"2w 727
coincide, for that would contradict the two %"°p. This concludes the citation of the X713 in
7w, Now nm»doin concludes his proof:

— 15PN RNIYN NN S91934 YW a9 XnaYn 19 N1P NN MNP YIYN

It is apparent since the X713 states categorically ‘but we have established
that the ruling is according to 7129°, this indicates that the ruling is like
1727 in the entire 8773, not only in '2"3, as this 2w1o» w* insisted.

mooIn offers a solution in the defense of the ow"on w:
— Na99 XNAYN )9 NNP RN YD9)T D990 VI ONNYT MNTH Y NIY)
And perhaps we can set aside this proof, for there are texts there that

read ‘in this case we have established 77292 xn2%7° -
— N92) 9192 XD NP1 NNA RNt

which would indicate that ‘in this case’ specifically the 712777 is 7275, but
not in the entire X9%3.

maintains she can pay him the price of the cloak and it will be a valid vx. The o°»2n1 disagree and maintain
there can be no v unless she returns the actual cloak.

* When the time came to irrigate it the fourth time, it rained sufficiently that the o7& did not need to irrigate
the field. 701 17 maintained that since he did not irrigate the field a fourth time, therefore he is not entitled
to a third of the crops, but rather only to a fourth like all other o°0>1X. However 727 maintains that since the
fourth irrigation was done (albeit through the rain) he receives a third of the crops.

> Initially the X»3 attempted to compare the case of the 07X to the case of the vi. Concerning the 3 the
o1 rule that since the agreement was to return the cloak and she did not, there is no v3; similarly 7oy 27
maintains that since they agreed that he would irrigate four times and he did not; he receives only a fourth.
7127 however follows 3"2w7 and they both maintain that we need not be so particular, in both cases the
agreement was met; the husband received the value of the cloak and the field was properly irrigated.

% Concerning 3"2w the X3 states that 3"2w3 7397 PXT 2"p &A1) indicating that the 2"»p is only in this
case; however concerning 7727 the X7m3 states 7273 Rn27a7 9"p XM (without a 'N72') indicating that
universally the 7377 is 7272.

7 The npy2mn concerning the 97X is not cited in 2"2 (only in 7).
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In summation: According to the n"> the 71377 is 7212 against 70 21 only in their disputes
in 2"2. It was therefore necessary here (in 7P217°p [and in Pva]) for the Xna to rule like
727 against 701 2.

mooIn has an additional question:
— 11297 NN XNIYN NITNA 9MINRP KDY INNAN NIYP 1710

However there still is a difficulty; why did not the X% specifically state

the m1o%17 is according to 5727 (without mentioning XMW 7% XY *X1W) -
— 19N3 29 9N N9 XNIYNY TYIN %395 NOYN 9MINTD

As the X n) states the 71997 is like X'"9 and the 7597 is like 1'9 92K K29,
Here however the X713 chose to say 8w 179X X *RW XNOY; stating the ruling but not
mentioning the name of 727 as it did by the others (where it did not mention the ruling).

N1v0IN answers:
— ENIIY 99598 KT NYD INDY NPITT IIMNUNY NONT 05 19929 92IN)

And the n'"9 answered that (by stating Xw 12X PR KXW and not
mentioning 7127) the X3 is coming to inform us that only ’X7°2 do not

require an evaluation -
— 49 9512 MIYLY PHIN PRI NEP T MYV S9Y

For their evaluation is slightly known and it is not usual to make a

drastic mistake in its value; therefore X is not necessary -
— VYN NIX MV DIPRY YIY 919121 /I DN 111D D937 INY YaN

However other items such as precious stones and pearls, where there

are those gemstones which are not that good, but rather they are of little
worth -
—NNYT NOND RIT DIVN RNDIY 13598 DIMVYN 9N NA9N2 MYLY 0994

And it is usual to mistake them to be worth much more than their value,
in those cases X2 is required, for the woman is not placing her trust as to

) 9
its true value.

¥ It would seem that the n" is answering both questions. We can assume that 401 271 7121 are arguing in all
cases; by "X and by v"ax. It is necessary to teach us that the 73771 is 8w 3% X7 *}x7°W for that does not
necessarily mean that the 7377 is 727. It is only by *X7°w that ¥ is not required, since its X2 is known;
however by m121v 0°1ax8 where the value is not known, X" is required (in a case of Pwnn "W Pwnn 1K) for
there the 713%7 is like 70 27 and not like 727. [The actual nPY>nn between A2 27 727 was by Xw;
therefore the X7m3 could not have added a fourth case where the 713%7 is 7o 213.] Alternately; n"1 may be
saying that 727 maintained X1 >3°7% X% only by *X7°w and not by v"ax. Had the &7n3 said 71215 7977 (or not
said anything); we may have mistakenly assumed that 727 maintains X212 1% X? even by v"ax. Therefore
the &3 needed to limit the scope of this 75777 to *X1°w. See ‘Thinking it over’ # 2.

? When the woman receives the 210 12x she is unsure whether it is as valuable as it looks or perhaps it is of
little value, therefore X is required (for if she finds out that it is of lesser value than what she estimated,
it will be My *w17°p, or if she is not sure that it is worth what he is telling her she will not commit herself).
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mooIn concludes based on the "3 wrvo:
— AN N PRY NYAVA VIPY BHIVN 1NN 79999

And therefore there is a universal custom to perform the Pw7°p with a
ring that has no stone set in it.”’

mooIn resolves an anticipated difficulty:
— YN VY Y ¥ 15w 19913 1Y 901AY (3,nn 9 2IY DI93 1DPY MINT XD

And that which the X7 stated later in the second P95, that he added a
721 stone of his; indicating that she is nw17p»n with the stone. This is not a
difficulty, for we can say that it was evaluated before he gave it to her.

moon offers an alternate explanation for the X723 of 791:

— Prsm; 199 $11Y IRIIY PP 7993 NYDN 9103 ON
Or you may also say; that 791 is similar to "X™% in the sense that its
value is somewhat known, and there is ny7 m>"o.

Mmoo anticipates an additional difficulty:
— (8,2 97 0pY) NINIDT NIANI WTPT N92) NIND)

And concerning that person who was w7pn a woman with a black marble

stone -
— 1YY NIV N2 N IN 9YVYN NTON 29 NI

And R7on 29 was estimating its value (after the Pw17p) if it is worth a

79D, This indicates that if it were worth a 70179 she would be nwTIP»n with an 21 jaK;
in contradiction to the n"!

mooIn responds:
— YW AN 1Y NN M 02N INYS 31 KY NINIT NIAN

The X>m>7 Xi1aX are not like other precious stones but rather they are

similar to marble stones (which are building stones and not jewelry) -
— YTPNN NH%AY D237 DITINA (3,5 97 NNDT /N P9 NINIYNTD

"9 If there were a precious stone set in the ring it would require a X for the PwITp to be valid. It is
apparent that the value of the (gold) ring is fairly known.

1 T911 is translated by some to mean an emerald, others refer to it as a carbuncle. 7911 is from the 72177 *12X.
"2 The case there is about a woman who gave gold to a craftsman to make rings for her, and as payment she
agreed to become nwTPn to him. According to the 7"n of M0 791 720N MOWH MW she cannot become
nwTpPn to him through this payment but the X713 says that nevertheless she is nw71P% in the instance where
the craftsman added a 7911 (which belonged to him) to the jewelry that he made for her. She becomes
nwTpPn only with this 791.

It would seem that the 7911 was not such an expensive stone (or it was very popular).

" This would (seemingly) be obvious from the fact that X701 21 had to estimate if it is worth a 70D MW,
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As we find in the fifth P95 of 7720 nN20on concerning ©17977 that he built the
Pl -
— N9991) NIN1DY NYIWT »)ANA

with stones of beige, black, and white marble; indicating that X737 X1 are
stones for building and not jewelry.

In Summation: The n"1 explains that it was necessary to state that in this NP9 the
ruling is that only ®mw *¥a &% *X°w; however M2 0°13R require 8w, Had the X713 not
stated it so, we may have mistakenly assumed that in all cases ¥mw 71>¥ PX. The
implication is that one should not be w7pn with a precious stone.

mooin offers an alternate solution why it was necessary to rule like 7727:
— q0) 29 223D N9 PIVAY TIIVKIN 29N DIVN DIVWIIN YN

And others explain the reason it was necessary to rule like ;7129 against
neY 29, is -
— 199290 NN NN (x,n 9m PP N¥AN G0 297 DIVN

because 1o 29 previously brought various proofs to his opinion.
Therefore the X 13 rules that despite those proofs the 70917 is like 721,

The n"> answer the second question why the X3 did not simply state the 713%7 is like 727:
— 11395 XN2YN 9INRP NI 99N DIVN DOVI9ND VI TY

In addition there are those who explain the reason the X712 did not state

17275 RN2Y:7 (instead of saying XK@ 127 PX °XW) is in order -
— NIV 99598 NY 177 5924 59T NIINT N2 19901 NNISN K91

That you should not mistakenly assume that we are referring to the 77129 of
the »72K87 X2°8 who maintains that (only) if the man said ¥717 %2 then X2 W is

not required -
— NIV P PYUNN MY PYNN 1Y N YaN

However when the man said they are worth fifty 17 and they were worth

fifty 17 then perhaps X» W is required for she is not ny7 7210 -
— v sya NY Py DIVAT PO 79295

' This means he told the woman I want to be ¥7p» you with a minimum amount. The object with which he
was w7pn her had the minimum amount of a 179, See the X3 previously X,17-2,7.

' See the (T1X:) X"wrn on X1 77 8,7 MDOIN that it is apparent from this 201N that according to the X2°X
"R, the NPY?nn between 7O 27 7127 is only by 117 93, however by Pwnan "W pwnn all agree that Xmw *va.
For if their np17nn is also by 121 pwnan, then even if we thought that 7215 XnoY1 is referring to the 7"8, we
would still know that X" is never required even by 7wnr, since 7327 maintains according to the 7"X that
XMW is never required. According to this X" we are not 0713 previously on (2,7) that *%5 1377 933, but
rather *»%9 1777 932. See ‘Thinking it over # 1.

' See “Thinking it over’ # 3.

5

TosfosInEnglish.com



XN 7"7 'oIn R0 PYITR .7"02

Therefore the X713 ruled and said Xmw *va X7 °X71°w indicating that in all
circumstances X212 is not required (even in the case of Pwnan "W Pwnn).

mooIn concludes:
— 1299 PIDAY TOIVYINT NN AW N DYV N 'Y

According to this reasoning (that by saying XM 172% R? X7W the &7n)
indicates that this applies even to a case of 7wnn "1 Pwnn) it will also be

understood why it was necessary to rule here like 7729 -
19315 19 NP NNOYT 5921 23 Yy 9N

Even though that we follow him in all places. In this case we are not certain
whether we follow 7127 of the Xnp X127 or 727 of the *MKRT RK; by saying 1°3°7X PR ORIW
Xmw the X3 teaches that the ruling is like 7127 in the Xnp Raw>.

SUMMARY

The ruling that Xmw > % X> applies only to items whose value is fairly
known, however Xmw is required by certain expensive items such as
precious stones, where there can be a great discrepancy in their value.
People are therefore w7pn with a ring only, without a stone.

It may be necessary to teach us that the 17097 is 77272 against 701 271 when the
dispute is not in 8702 X223, or when 701° 27 has proof for his view. In our case
it may have been necessary to teach XMW 27X X7 *X7W to rule like the Xiw°H
Xnp that the npYonn is [also] (even) by Pwnn "W Pwan.

THINKING IT OVER
1. According to the X7 X3°X what would 7727 maintain in a case of Pwnn
TWwAn MW; 1s XMW required or not?"’

2. If a man was w7pn with M2w 0°1aXR and said 177 902; is XMW required or
not??°

3. How do we derive from X2 7°7% X7 *X7W that it is (also) referring to a
case of >'121 Pwnn and not only to a case of %17 93?

'8 The xm3 is actually teaching us that the X»p X127 is the correct version of their dispute; meaning that 721
maintains X210 1°2°7X 1K even in a case of Pwni MW Pwnn.

19 See 1"nx footnote # 76.
20 See woRY 71"721 XY 772 R
2 See footnote # 17.
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